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MATH 421§8. ADVANCED CALCULUS FOR

ENGINEERING. SPRING 2014. QUIZ 6

1. (100 points) Solve Laplace’s equation

?u  O%u
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72 T o =0,0<r<3,0<y<m/4,

subject to the given conditions
u(z,0)) = u(z,7/4) =0

u((0,3) = 0, u(3,y) = 2y.
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2 MATH 421.83. ADVANCED CALCULUS FOR ENGINEERING. SPRING 2014. QUIZ 6

2. (100 points) Solve Laplace’s equation in the sector of the disk (in radial
coordinates)

u  10u 1 9%
— +-—+=—=0,0<0<7/6,0<r<4
or2  ror 12062 pl S ams, :
subject to the given conditions

u(4,0) =0-1,0<0 < 7w/6,

Ju du
8—9-(7‘,0) =0, %(T’,ﬂ'/G) =0.
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MATH 421.0% ADVANCED CALCULUS FOR
ENGINEERING. SPRING 2014. QUIZ 6

1. (100 points) Solve Laplace’s equation

Pu 9%y

— ——0.0< < 3,0 r/4,
922 +8y T O0<y<m/

subject to the given conditions

2L 0.) = (3.9 =0,

u(x,0) = 1, u(z,w/4) = 2
X' x ¥ X(0)= XM () 0
- XY=0
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2 MATH 421.03. ADVANCED CALCULUS FOR ENGINEERING. SPRING 2014. QUIZ 6

2. (100 points) Solve Laplace’s equation in the sector of the disk (in radial
coordinates)

Pu  10u 1 0%
ﬁ+;5+r_2392 =00« < 7/3,0<r<2

subject to the given conditions
u(2,0) =0,0< 0 < /3,

#(r0) =0,5u(r,7/3) =0
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